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  الحساب العددي
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 ا�����ب و ا�����ب ا����� )3
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II. ت ا� ا��ظ
�ت –ا�
�را���ت  –�
��د

  

�!ول وا�د )1

��د�� 
ن ا�در�� ا#و�" � 

0axا����د�	 �ن ا�در�	 ا+و�1 ����ول وا!د ھ� )ل ���د�	 ��)ن أن �)�ب ��1 0)ل  b+  bو  aھو ا����ول و  x!�ث  =
  �ددان ! � ��ن ���و��ن

  

  

  

  

  

  

  

  

  

  

  

  



 

بادآ ��و�ا  
  ا	
�ديا	���ب درس 

 

3/6 Math.ma – 3/2017 

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  

�!ول وا�د  )2
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�دول إ%�رة ا��دا���  )3ax b+  
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�ل ')'�� ا��دود 
ن ا�در�� ا�'���� )5�� 

 

�2���ر ���5	 ا�!دود ax bx c+   ���زھ� ∆و ��)ن   +
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 إ%�رة ')'�� ا��دود 
ن ا�در�� ا�'���� )6
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���ر ا��ظ�	 �( ) :
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